< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

.........

.........

..........

..........

TT[TTTT[TT[TTTT
iy

|
w

-1 0

1

2

3

n (PCA to beamline)

< dcot(6) >
o
[
[¢)]
IIIIIIIIII

............

............

........

.........

.......

.......

QI T

-1 0

1

2

3

TP n (PCA to beamline)

10000
111 \g

00
T

38R4

T OO o
est 00evt
stLowPt_ 1000

evt

estLowPt_1000evt

stLowPt 10

evt

[y
D O O
OO

< 00, > (um)
N
(@]

20

=Tl

C . = ol | 3
— - - 1 THE 44 -
r E d a b !
— - 3 -.-Jr 3 -
- - 3 -
r b b !
— i - M ki
c b ¥ I
— 4 - - -ak -4
- . -k 1108
PRI 1 NP | ALY B I T A A (IR ARA R A
L 5] "

|
w

1

2

3

g E M : 5
PO S 1 T it
- CE Ml
S Il
o Al il
vooE e il
E 11| T 4 :
OF- -1 41t P OH bt
E : : : SR
O 001N B 1
SN/ it
B 3 [ R R A 1
-
SR U 1 U
S
ot 1 AT [I
T

3

TP n (PCA to beamline)

< 8d,> (um)

Rati

i

4

I

|
w

-2

-1 0

1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


